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Point values in I boxes l

1. |1 Please indicate True or F false. Lavdem =<2 Radive % 4
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(3)@/ F : Suppose Z an(z +2)" converges when z = 2. Then it must converge when z = —4.

(b) T /@ Suppose Z an(z+2)" converges when z = 0. Then it must converge when z = —4.
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2. For a power series Z an(z — )", suppose lim
k(s

i
)

=0.

State the radius and interval of convergence.
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3. For the power series below, find and clearl

y state the radius and interval of convergence.
Provide appropriate justification.
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CONTINUED ON THE REVERSE.
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4. Use the geometric series E " = T for |z| < 1 to find a series representation for

n=>0
f(z) = —In(1 — z) centered at ¢ = 0 and its interval of convergence.
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